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H" (aq) + Li (s) -> Li*(aq) + %2 Hz (9)

- N NIYINTA NiAalnn

H*+e=%H2(9) Er =0

Li* +e =Li B =-3.045%
E® = EQ — E? =3.045V
1»96485%'3.045V
MelPE" Toas I seek 51
K=e RT =g Kmol =3.16-10

2H" (aq) + Pb (s) -> Pb*(aq) + H2 (9)
- N NIYINTN NAlnNn

2H*+2e =H,(g) E; =0

Pb*z +2e” =Pb EoL =-0.126V
E°=0.126V
2>96485%>0.126V
WFE ga1a I omk 4
K=e RT —g Kmol =1.83-10

3H" (ag) + Au (s) -> Au"(aq) + 3/2 H, (g)
L [N NIYNTA NRAND

2H" +2¢" =H,(g) Ef=0

Au*® +3e” =Au ET_ =1.5v
E°=-15V
3~96485%~—1.5V
‘VE‘FED m 77
K=e RT —g  Kmol =7.8-10
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Pt|Ag(s)|AgClis)|K*,CI,H20|Hg,Clys)|Hg|Pt :12'n xnin
NN KN NARNA X
AgCI(s) +e” —*2 5 Ag(s)+Cl (aq) /--2
Hg,Cl, (s) + 2e- —2 5 2Hg(s) + 2Cl ~(aq)

Hg,Cl,(s) +2Ag(s) —» 2Hg(s) + 2AgCI(s)
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[KCI]=1M
E° =0.0455v
T = 298K
|Ve| =2
(E}). ~3.38-10“VoltK *
oT
AG’ = —|ve|FE° =-2. 96458L -0.0455V = —8777.7L = —8.8ﬁ
mol mol mol
AS’ :|ve|F(£)P = 2-96458£-3.38-10‘4V0It K* =652 J
oT mol Kmol
. . . J J KJ
AH =AG +TA,S® =-8777.7— + 298K - 65.2——— =10.652——
mol Kmol mol
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Pb** (aq) + 2e~ <> Pb(s) E°=-0.126V /-1
PbSO, (s) + 26~ <> Pb(s) +SO? E°=-0.350V

PbSO, (s) <> Pb** (aq) +SO7
E° =-0.359V — (~0.126V) = —0.233V

A.G" =—RTInK = v |FE’

vFE _2.96458—°0.233V
_ Ve _ mol _ -8
Ky =exp{ }=exp{ 3 }=1.32-10
RT 8.314 208K
K -mol



